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Q.1) Attempt any two of the following in about 100 words each : [12]
(@) Write a short note on the poem, ‘Mirror’.
(b) ““Refund is criticism on Education.” [llustrate.
(c) Who is Allen Trevor and how does he help Hughie Erskine ?

(d) What according to Tagore is the meaning of religion ?

Q.2) Attempt any three of the following in about 50 words each : [12]
(@ Does Uncle Podger succeed in hanging a picture ?
(b) How did the family of Nicola and Jacopo live before the war ?

(c) How does the mother Margaret recollect her son’s childhood
memories ?

(d) How does the conjurer take revenge upon the Quick Man ?

() What is the theme of the poem, ‘Gather ye Rosebuds while ye
may’ ?
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Q.3) Attempt any two of the following : [12]

(@)

(b)

(©)
(d)

You and your friend are talking about the great event, Sachin
Tendulakar’s recent fifty centuries. Write a dialogue on this
theme.

Your friend has met with an accident and is admitted in Ashoka
Hospital. Write a letter to your friend expressing sympathy
towards him.

Write a paragraph on Environment Awareness.
Write an essay on ‘Personality Development’.

Q.4) Do as directed : (Any Six) [12]

(a)

(b)

(©)
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Fill in the blanks using suitable words given in the bracket and
rewrite :

(1) | am puzzled by the conflicting opinions on
[coffee / a coffee]

(i) There is hardly any for more furniture in the
room.

[a room / room]

Fill in the blanks using suitable phrasal verb given in the bracket
and rewrite :

(1) 1 am running low on petrol. I must
[fill in / fill out]
(i)  Will you please the light ?
[put up / put out]
Fill in the blanks choosing a suitable word and rewrite
(i) Only good will earn friends.
[manner / manners]

(i)  Wheat is the food for the majority of people
in the northern states of India.

[staple / stable]
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(d) Give synonyms of the following words :
(i)  restaurant

(i) lady

(e) Give short forms of the following :
(i) laboratory
(i)  omnibus

()  Make words by using the following suffixes :
(1) ment
(ii) ion

() Make adjectives from the following words :
(i) fantastically
(i) act

(n)  Write sentences using the phrasal verbs given below :
() put up
(i) go through

(1) Give full forms for the following :

(i) BPL
(i) RBI
Q.5) Do as directed : (Any Six) [12]

(@ You will shut the doors immediately.
[Change into an Imperative Sentence]

(b) Complete the following sentence using a suitable relative clause :
Amitabh was awarded Padmshree in 2008.

(c) Fill in the blank with a suitable adverb of frequency and rewrite :

He visits the computer lab at 7.00 am.

[3969]-101 3 P.T.O.



(d)

(€)

()

(9)

(h)

(i)

()

Change the following into indirect speech :

The father said, “I am unwell today”.

| didn’t go to the cinema yesterday.

[Add a Question Tag]

Complete the following sentence :

Unless you work hard

The conjurer smashed the Quick Man’s gold watch.
[Change the voice]

He painted a picture. yesterday.

[Frame a - Wh-question on the underlined word]
Millionaire models remarked alan are rare enough.
[Punctuate sentence and rewrite]

Economics are a important subject.

[Correct sentence and rewrite]
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F. Y. B. Com. Examination - 2011
FINANCIAL ACCOUNTING
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Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ State with reasons whether the following statements are true or
false : (Any Five) [10]

(i) In India, Accounting Standards are issued by Accounting
Standard Board.

(i)  The process of distribution of cash in accordance with
order of payment is called Piecemeal Distribution.

(i)  When a partnership firm is reconstituted, its assets and
liabilities are shown at their original cost in the new balance
sheet.

(iv) Royalty payable on output basis is debited to Manufacturing
Account.

(v) Del-credere Commission is to bear the loss on account
of bad debts.

(vi) Down Payment means an initial payment payable by the
hire vendor, at the time of entering into Hire Purchase
Agreement.

(vii) Microsoft Excel is an example of prepackaged Accounting
Software.
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(b) Brief answer questions : (Any Two) [14]
(i)  Explain objectives and benefits of Accounting Standard in
India.
(i)  Distinguish between Sacrifice Ratio and Gain Ratio.
(i) How will you select a Customised Accounting Software
from Vendor ?
(iv) Distinguish between Consignment and Sale.

Q.2) Megha, Varsha, Sarita and Sagar were partners in a firm. The capital
of the firm consisted of Rs. 4,00,000 contributed originally in the
proportion of %/, °/ ., '/, and '/, respectively. The profits and losses
were shared in the same proportion. The firm was dissolved on 31st
March, 2010. The Balance Sheet as on that date was as under :

Balance Sheet as on 31st March, 2010
Liabilities Rs. Assets Rs.
Capitals : Cash 60,000
Megha - 2,00,000 Debtors 5,00,000
Varsha - 1,40,000 Stock 1,90,000
Sarita - 1,05,000
Sagar - 25,000 | 4,70,000
Loans :
Megha - 50,000
Sarita - 80,000 1,30,000
Creditors 1,50,000
7,50,000 7,50,000
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It was decided on 15th April, that the net realisations should be
distributed on the first of each month in appropriate order. The
realisations and expenses at the end of each month were as under :

Month Debtors Stock Expenses
(Rs.) (Rs.) (Rs.)
April, 2010 1,50,000 70,000 5,000
May, 2010 85,000 50,000 10,000
June, 2010 1,10,000 Nil 2,500
July, 2010 1,25,000 65,000 2,500

The stock was completely disposed off. It was further agreed that
Varsha should take over the remaining debts for Rs. 25,000. Show
how the cash was distributed according to the Maximum Loss Method.
Apply Garner Vs. Murray’s Case. [14]

OR
Q.2) A and B were partners sharing profits in the ratio of 3 : 1 respectively.
Their Balance Sheet as on 31-3-2010 was as follows :

Balance Sheet
as on 31st March, 2010

Liabilities Rs. | Assets Rs.
Creditors 20,000 | Fixed Assets 50,000
Bills Payable 4,000 | Loose Tools 4,000
A’s Loan 6,000 | Bills Receivables 8,000
Liability for Repairs| 4,000 | Stock 15,000
Revenue Profit 8,000 | Debtors 14,000
Capital Alc’s Less : RDD 2,000 12,000
A - 32,000 Cash in Hand 2,000
B - 17,000 | 49,000
91,000 91,000
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The partnership was converted into Limited Company on the date,
subject to following adjustments :

(1)
(2)

3)
(4)

®)
(6)
(7)

(8)

Fixed Assets include Motor Car of Rs. 8,000.

The company agreed to take over other Fixed Assets at
Rs. 52,000, Stock at Rs. 14,000 and Debtors at Rs. 13,000. The
company also agreed to Pay Creditor’s and Bills Payable at 10%
Discount.

Motor Car was sold by the firm for Rs. 10,000.

Bills Receivable were taken over by ‘A’ for Rs. 7,000 whereas
‘B> took Loose Tools for Rs. 3,000.

A’s loan and liability for repairs were paid in full.
Realisation Expenses amounted to Rs. 2,400.

Goodwill was valued at 3 years purchases of the average profits
of the last 4 years. The profit figures are as follows :

2006-07 Profit Rs. 4,000
2007-08 Profit Rs. 8,000
2008-09 Loss Rs. 2,000
2009-10 Profit Rs. 14,000

The purchase consideration was discharged by issuing 7,500
equity shares of Rs. 10 each at Rs. 8 per share and the balance
in cash.

You are required to prepare :

@)
(b)
(©)
(d)
)
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Realisation Account
Partners Capital Account
Limited Company Account
Cash Account

Equity Shares in Ltd. Co. Account

[14]
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Q.3) (A) The following was the Balance Sheet of A, B and C partners
in a firm sharing profits and losses in the ratio of 3 : 2 : 1

(B)
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respectively.

Balance Sheet

as on 31st December, 2009

Liabilities Rs. | Assets Rs.
Creditors 5,000 | Cash 500
Bills Payable 1,500 | Bills Receivable 2,000
General Reserve 6,000 | Debtors 30,000
Capital Alc. : Less : RDD 2,000| 28,000

A - 30,000 Investment 25,000
B - 20,000 Land and Building | 17,000
C - 10,000 60,000 |

72,500 72,500

On 30th June, 2010, C died and it was agreed that :

(1) The assets should be revalued as Land and Building
Rs. 20,000 and Investment Rs. 23,600.

(2) All debtors should be taken as recoverable.

(3) The goodwill of the firm should be valued at twice the
average of the profits for the last four years and goodwill
account should be raised in the books. The profits were :

2006 - Rs. 90,000, 2007 - Rs. 90,000, 2008 - Rs. 80,000

and 2009 - Rs. 1,00,000.

(4) C’s share of profit upto the date of his death should be
calculated on the basis of the average of the profits for
the last two years.

Ascertain amount payable to executors of deceased partner. [08]

‘Z’ Ltd. took from Mr. Shami a lease of coal field for a period
of 10 years from 1st January, 2007. The said lease provided for
payment of royalties to Mr. Shami at Re. 0.50 per tonne with
a minimum rent of Rs. 8,000 p.a.

Each year excess of minimum rent over the actual royalties were
recoverable during the next two years. The lease, however,

5
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stipulated that if in any year the normal rent was not attained
due to an accident, the minimum rent was to be regarded having
been reduced proportionately having regards to the length of

stoppage.

The output was as follows :
2007 - 7,000 tonnes
2008 - 14,000 tonnes
2009 - 20,000 tonnes
2010 - 12,000 tonnes

During the year 2010 there was a stoppage of work due to
accident lasting for three months.

Pass necessary Journal Entries in the books of ‘Z’ Ltd. for above

four years. [14]
Q.4) Following is the Receipts and Payments Account of Sawarkar Swimming
Pool for the year ended 31-12-2010 :
Receipts and Payments Account
Receipts Rs. | Payments Rs.
To Balance b/d 3,700 | By Bar Expenses 4,100
To Subscription 6,600 | By Water Cleaning Exp. 1,800
To Donation for By Printing and
Buildings 25,000 Stationery 700
To Sundry Income 500 | By Construction of
Buildings 20,000
To Match Receipts 700 | By Match Expenses 570
To Locker Rent 1,500 | By Salaries 4,000
To Bar Receipts 4,300 | By Electricity 270
By Investment in
Government Securities| 10,000
By Balance c/d. 860
42,300 42,300
6 Contd.
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Additional Information :

Particulars As on As on
31-12-2009 31-12-2010
Printing Materials 230 320
Outstanding Salaries 300 450
Outstanding Subscriptions 300 700
Outstanding Electricity 80 90
Outstanding Bar Expenses 1,100 1,700
Swimming Pool 70,000 65,000
Buildings 50,000 67,000
Prepare Income and Expenditure Account for the year ended
31-12-2010 and a Balance Sheet as on that date. [20]
OR

Q.4) (A) ‘X’ of Delhi purchased 10,000 pieces of sarees @ Rs. 100 per
saree. Out of these sarees, 6,000 were sent on consignment to
‘Y’ of Agra at a selling price of Rs. 120 per saree. The consignor
paid Rs. 3,000 for packing and freight.

‘Y sold 5,000 sarees at Rs. 125 per saree and incurred
Rs. 1,000 for selling expenses and remitted Rs. 5,00,000 to Delhi
on account. They are entitled to a commission of 5% on total
sales plus a further 20% commission on any surplus price realised
over Rs. 120 per saree.

3,000 sarees were sold in Delhi at Rs. 110 per saree. Owing
to fall in the market price, the value of stock of saree in hand
Is to be reduced by 10%.

Prepare Consignment Account in the books of “X’. [10]

[3969]-102 7 P.T.O.



(B) On 1st January, 2006 the SKF Ltd. purchased machine from Sai
Ltd. on Hire Purchase System. The cash price of the lathe
machine was Rs. 3,00,000. SKF Ltd. paid Rs. 40,000 on signing
of the agreement and agreed to pay balance in five instalments
of Rs. 60,000 each payable annually on 31st December. The Sai
Ltd. charged 5% interest p.a. on yearly balances. SKF Ltd.
decided to provide depreciation at 10% p.a. on Reducing Balance
Method.

Prepare :
(@ Lathe Machine Alc.
(b) Sai Ltd Alc. [10]

[3969]-102/8



Total No. of Questions : 5] [Total No. of Printed Pages : 2

[3969]-103
F. Y.B. Com. Examination - 2011

BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Explain Economic Goals and Non-economic Goals of Business Firms. [16]

Q.2) What is Demand Estimation ? Explain Methods of Demand Estimation. [16]
OR

Q.2) What is Perfect Competition ? Explain Short-run and Long-run
Equilibrium of a Firm and Industry under Perfect Competition. [16]

Q.3) Answer in brief :

(@) Explain Properties of Indifference Curve. [08]
(b) Describe Break-even Analysis in Decision-making. [08]
OR

Q.3) Answer in brief :

(a) State External Economies. [08]
(b) Discuss Modern Theory of Rent. [08]
Q.4) Critically examine ‘Loanable Funds Theory of Interest’. [16]

[3969]-103 1 P.T.O.



Q.5) Write short notes : (Any Two) [16]
(@) Law of Returns to Scale
(b) Backward Sloping Supply Curve of Labour
(c) Price Skimming

(d) Tools of Economic Analysis
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F. Y. B. Com. Examination - 2011
MATHEMATICS AND STATISTICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All the questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1

Q.1) Attempt any four of the following : [2x4=08]

(a) What 1s ‘Stock Exchange’ ?

(b) Find rate of simple interest at which principal of Rs. 3,000 earns
an interest of Rs. 2,600 in 5 years.

(c) Explain Cartesian Product with an illustration.

2 3 5 B_5-23
(d) IfA“—'[_1 6 1}and 2 -1 6/

find A + B.
(e) If f(x) = x? — 5x + 6, find f(-3).

(f) Shade region defined by an inequality 3x + 4y > 24.
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Q.2) Attempt any three of the following : [5x3=15]

(@) Find determinant of the matrix :

1 0 -4
A=1|2 2 5
3 -1 2

(b) Which is the better investment, 8% at 80 or 15% at 120 ? Justify.
(Face Value Rs. 100)

(c) Find equated monthly instalment on a loan of Rs. 1,00,000 to
be repaid in 10 years at 15% p.a. Interest is charged on the
loan outstanding at the beginning of each year.

[Given (1.15)!° = 4.04557]

(d) Using Matrix Inverse Method, find solution for the following
system of equations :

5x — 2y = -1
x +3y =10
(¢) What sum will amount to Rs. 848 in 8 months at 9% p.a. simple
interest ?
Q.3) Attempt any three of the following : [5x3=15]

(a) Find compound interest on Rs. 4,000 for the 5th year when the
rate of interest is 8% p.a.

(b) Ify = x%e*, find —Z.
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(c) Evaluate :

21

. li X
(1) xlr—nn
x — 1

x?— 18x + 32
X — 2

(i) 3,

(d) Solve the following Linear Programming Problem (L.P.P.) by
Graphical Method :

Maximize Z = 200x + 300y

Subject to 3x + 2y < 240
2x + 4y < 280
x>0 y>0

(e) A company manufactures two types of presentation goods ‘A’
and ‘B’. Each unit of ‘A’ requires 4 gms of silver and 1 gm
of gold; while that of ‘B’ requires 1 gm of silver and 3 gms
of gold. The availability of silver and gold per day is 120 gms
and 100 gms respectively. The manufacturing cost per unit of
type A is Rs. 920 and that of type ‘B’ is Rs. 1,600. Formulate
a Linear Programming Problem to minimize cost.

SECTION - II

'Q.4) Attempt any two of the following : - [2x2=04]
(a) State difference between Inclusive and Exclusive Classification.

(b) Compute Median for the followinig series of observation :

52, 45, 60, 53, 48, 65, 42, 45, 60
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(c)

(d)

Obtain less than cumulative frequency distribution for the
following data :

Class 100-150} 150-200 | 200-250 | 250-300 |300-350
Frequency 15 08 03 01
Define the term ‘Correlation’ with example.

Q.5) Attempt any three of the following :

(a)
(®)

(c)
(d)

(e)

[3969]-104

Explain Procedure of Stratified Random Sampling.

[5x3=15]

What is an Index Number ? Explain Method of Construction
of Family Budget Index Number.

Write merits and demerits of Arithmetic Mean.

Draw histogram and find mode graphically for the frequency
distribution of marks of 40 students :

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of
Students 05 08 15 05 04 03

Compute range and coefficient of range for the data given

below :

8, 12, 10, 18, 28, 17, 20, 22, 12

Also find new range and coefficient of range when each
observation is doubled.
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Q.6) Attempt any three of the following : [5x3=15]

(a) Answer questions using the following frequency distribution of
100 companies :

Profit (00,000 Rs) | No. of Companies
0-100 09
100-200 15
200-300 18
300-400 21
400-500 -
500-600 14
600-700 05

(1) State Type of Classification.

(1) Find Missing Frequency.

(11) Find Class-mark of Fifth Class.
(iv) Identify Median Class

(v) Find Class Width of Third Class.

(b) Obtain line of regression of y on x for the data given below :

X 06 02 10 04 08

y 09 1 05 08 07

Also estimate y when x = 5.
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()

(d)

(e)

Q.7) Attempt any one of the following :

(a)

(b)
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Find Standard Deviation and Coefficient of Variation for the
following data :

6, 4,5, 3, 12, 10

Given : Zp q, = 175, 2p,q, = 91, Zp,q, = 190, 2p,q, = 100.
Find Laspeyre’s, Paasche’s and Fisher’s Price Index Number.

Ranks obtained by 6 students in Statistics and Accountancy are
given below :

Ranks in Statistics 5 6 4 3 2 1

Ranks in Accountancy | 6 2 1 4 3 5

Compute Spearman’s Rank Correlaton Coefficient.

[8x1=08]

Following are the values of import and export of finished goods
in suitable units :

Export | 10| 11| 14|14 | 20|22 | 16| 12| 18 |13

Import | 12| 14| 15(16 | 21 {26 | 21| 15| 16|14

Calculate Karl-Pearson’s Correlation Coefficient between Export
and Import Values.

(i) Find variance for the following frequency distribution :

Class 5-15 | 15-25 | 25-35 | 35-45 | 45-55
Frequency 05 15 12 . 18 08
6 Contd.



(11) Following is the frequency distribution of sale of companies.

"Find mode :

Sale (00,000 Rs.)| 0-20 | 20-40 | 40-60 | 60-80 | 80-100
No. of

Companies 05 18 20 12 05
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7.2) EeiE BRd S v e | [5x3=15]
(31) TYeid IOt WRUTE (Determinant) HI@T

()

(F)

®

®

HIOT [AI0H BERAR § R
% %. ¢o THar 4% %. 3o (Ff FFET = &, 200)

T {,00,000 TE 9 BIATTNATS 4% FUA HoilS ddeid. oIC
ST ITHWN GAS TUCHTAT RicThiay Bell ITd MEeATd AR
gar fpdt g3 9 e ‘ |

[(1.15)'° = 4.04557]

ol o (Inverse) UEd S ficled WG digar
5% — 2y = —1

x + 3y =10

Tt el X WA % I (AT AWT) ¢ AT 5. €8¢
TH B3 d el

9.3) qeiciat HodEl d g i [5x3=15]

(3T) WHH I. g,0009 FTATLEY. (% A BOTN ST qUid THaAE

(W)

[3969]-104

ST pIel.

STy = x%ef, W™ ? G LA
X

10 Contd.



(F) Hi=gdr -

2

. h X
(1) ;21 -
x — 1

x? — 18x + 32
X — 2

(3) Tl Su=gad 9T (L.PP) MaEren WEEH dtedr
Sl ST Z = 200x + 300y .

ST 3x + 2y < 240
2x + 4y < 280

DR

x>0, y>0

(3) TS BUAI 7 T ‘T YHAT A Hedy] aAdd. TS 3 FHR=AT
AEqEAT ¢ U7 FET T 3 IH i AW, TG T BT Heawqel
Y W FEr T 3 W9 QA AN, TS T Qi g Suererr
ITHH R0 HH T o0 A IR YOS I YHRAT Heawdl
IAEA fFAT . 90 T GAF A UHRAT WeawHl IAEA [
%. 3,500 IR, IUEA THAT FHIT HHT HIOMAIST W SR
939 (L.PP) d@r &

faamr - 3

q.4) JEIAUS HiodEl AT WA |Wigar ¢ [2x2=04]
@n 3isid T sl wiiEwTA W o
@ YR e AfedEES! AwRT (Median) FRT
$R, 8%, §o, 43, 8B, §Y, 8RR, 8%, {o
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e factear aaTiar aRefaTet derr HHE gedir Saiia aRarar

(%)
RO FET
ol 200-3%0 | $%0-300 | R00-3%0 | }40-300 | 300-3%0
FRETRAT R 9% o¢ 03 03
(3) wEuEgTEl HAEAT ISTEWTHiEd ol
9.5) qEiadat wioEd d ueT wiear [5x3=15]

(30

(=)

()
)

(®

[3969]-104

waw gigtess ag (Stratified Random Sampling) dgdt it
e o faen

fpra s woe 31 ¢ ®iber soe MEUi® U JaR s
¥ W F |

e (Arithmetic Mean)® 0T T 39 foTar.

9 go fummentenm Tonel araRar WRen fcelt omd. et
WS $GH A@ETAT HEAH TEAS FTET

'JIUT o-%0 30-%0 | R0-30 | 30-Yo | Bo-%o | Yo-go

TRt §w=v | oy o¢ % oY 0y 03

e feoicar Aifediaea ATaTHT T ATl HEOE HET
¢ W,

9T Y 8T gWe BedTg AU AT INTEIBT 9 AT
e[S  HIa.

30, 3¢, 3, o, R0, I, R
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9.6) qeiuat wiudt 9 gew wigar - [5x3=15]
(31) Y3 TG 00 FUMTHT AWTAT TRATRAT WRONGHA @Wite

g I feEr

dET (%. 00,000) FAA HoAT
0-%00 o%
300-R00 R
R00-300 ‘ ¢
300-800 33
Yoo-%oo0 -
$00-§00 2%
£00-l900 oY

(i) ST THd HoRr o foer
(i) 7 T IRaRar el
(ili) TS AT THH P
(iv) HORT MUY T NG
(v) oo @ie el SRl
@ R o wfdees y @ x o@a afwms W s

X o% oR 30 oy o(

y 0% RN oY o¢ oly
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[3969]-105

F.Y.B. Com. Examination - 2011
COMPUTER CONCEPTS AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |
Q.1) Attempt any four of the following : [4x2=08]

(@) Define Analog and Digital Computer.
(b) Explain any one example of E-commerce.
(c) Write the following definitions :

(i)  Application Software

(i)  System Software
(d) What is Page Setup ? Explain Setting of a Page.
() Name two websites which are related to Commerce ?
()  Explain Output Device with one suitable example.

Q.2) Attempt any four of the following : [4x4=16]
(@) What is Computer ? Explain characteristics of Computer.
(b) What is DOS ? What are the limitations of DOS ?
(c) Define ‘“Moving’ and ‘Copying’.
(d) What is Cell Reference ? Explain.
(e) Explain E-market with its disadvantages.

()  What is Input Device ? Discuss any two Input Devices.
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Q.3) Attempt any four of the following : [4x4=16]
(@) What is Internet and Intranet ? State their advantages.

(b) What is the use of Power Point ? What are the features of Power
Point ?

(c) Explain recalculation features of MS-Excel.

(d) Why do we require Anti-virus Program ? Name different Anti-
virus Programs.

(e) Explain ‘Flash Drive’ and ‘DVD’ and their uses.

(f)  Define ‘Search Engine’ and ‘E-mail’.
SECTION - 11

Q.4) Attempt any four of the following : [4x2=08]
(@) What do you mean by VAT Bill ?
(b) Define Order Processing.
(c) Explain Features of Tally.
(d) What is Account ?
(e) Write steps for creating Company.

()  How to create Sale Order in Tally ?

Q.5) Attempt any four of the following : [4x4=16]
(@) Give a short note on Balance Sheet.
(b) What are the advantages of Computerized Accounting.
(c) Explain in brief Organising Accounts.
(d) Explain Application of Tally and its uses.
(e) Explain Loading, Selecting and Shutting a Company.

()  Explain Setting for Creating Sales and Purchase Invoice.
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Q.6) Attempt any four of the following : [4x4=16]
(@) Explain Order and Buyer Details.
(b) Explain Bill-wise Details.
(c) Write short notes :
(i) Capital Account
(if) Investments
(d) Give a short note on Profit and Loss Account.
(e) How to prepare Ledger Account ? Explain.

()  Explain Types of Impersonal Accounts and Rules of Real
Account.
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[3969]-106
F.Y.B. Com. Examination - 2011

COMMERCIAL GEOGRAPHY
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.

(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map stencil is allowed.

Q.1) Answer the following upto 20 words each : (Any Ten) [20]
(1) What is meant by Commercial Geography ?
(2) Write any two names of Secondary Economic Activities.
(3) What is meant by Environment ?
(4) Define Resources.
(5) State names of Trees in Monsoon Forest.
(6) State two characteristics of Coniferous Forest.
(7) What is Wind Energy ?
(8) Define Renewable Resources.
(9) What is Commercial Farming ?
(10) Define Literacy.
(11) What is Optimum Population ?
(12) Give any two factors of Industrial Location.

(13) Give any two advantages of Railway Transport.
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Q.2) Answer the following upto 50 words each : (Any Two)

(1)
(2)
3)
(4)

Commodity Approach
Tertiary Economic Activity
Possibilism

Importance of Monsoon Forest

Q.3) Answer the following upto 150 words each : (Any Two)

(1)
(2)
3)
(4)

Types and Importance of Railway Transport
Commercial Farming and Subsistence Farming
Cotton Textile Industry in India

Divided Circle

Q.4) Answer the following upto 300 words each : (Any Two)

(1)
(2)
3)
(4)

Explain Factors of Natural Environment.
Write characteristics of Indian Population.
Explain in detail Major Industrial Regions in India.

Give an account of Tourism Industry in India.
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[3969]-107

F. Y. B. Com. Examination - 2011
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain in detail the basic principles of Co-operation. [16]

Q.2) What is Co-operation ? Explain Nature and Scope of Co-operation. [16]
OR

Q.2) Give a brief account of post-independence progress of Co-operative
Movement in India. [16]

Q.3) (A) Explain different types of Urban Non-credit Co-operatives. [08]

(B) State Duties of District Registrar of Co-operatives. [08]
OR
Q.3) (A) State Problems of Leadership in Co-operative Movement in
India. [08]
(B) Explain Legal Control over Primary Co-operative Credit
Society. [08]

Q.4) State types of Amendments of Bye Laws. Explain Procedure of
Amendment of Bye Laws. [16]
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Q.5) Write short notes : (Any Two) [16]

(@)
(b)

(©)
(d)

Features of Co-operative Societies Act, 1912

Maharashtra State Co-operative Societies Act, 1960 - provisions
regarding Registration of Co-operative Society.

Duties and Responsibilities of Promoter of Co-operative Society.

Importance of Bye Laws
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[3969]-108

F. Y. B. Com. Examination - 2011
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Write any two responsibilities of Indian Navy.
(2) What are the functions of Civil Defence ?
(3) Define Counter Intelligence.
(4) What are the functions of Home Guard ?
(5) Where is the Indian Military Academy located ?
(6) Write full forms of BSF and CRPF.
(7) Write any two aims of India’s Defence Policy.
(8) Where is the H.Q. of HAL situated ?

(9) What do you understand by the term Combat Branches of the
Armed Forces ?

(10) State any two limitations of Signals.

(11) What do you mean by Strategic Control ?
(12) Define Logistics.

(13) What do you mean by National Defence ?
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Explain Limitations of Air Force.
(2) State Role of Signal Corps during Peace.
(3) Write a note on Aircraft Carrier in Indian Navy.
(4) State Principles of Intelligence.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) What are the roles of Army Medical Corps during Peace and

War ?

(2) Write a note on the Territorial Army.
(3) Explain development of the Indian Army after Independence.
(4) Write a note on the Organisation of Indian Armed Forces.
Q.4) Answer in 300 words each : (Any Two) [30]
(1) Examine role of Indian Navy in National Economy.

(2)
3)
(4)

What are the principles of Defence Organsation ? Explain.
Discuss role of Indian Air Force in Kargil War.

Explain Powers of President in relation to Armed Forces.
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[3969]-109
F.Y.B. Com. Examination - 2011

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Commercial Bank. Explain functions of Commerical Bank. [16]

Q.2) Explain types and effects of Endorsement. [16]
OR
Q.2) What is Credit Creation ? Explain process and limitations of Credit
Creation. [16]
Q.3) (A) Explain types of Cheques. [08]
(B) Explain Evolution of Banking in India. [08]
OR
Q.3) (A) Explain need and importance of Technology in Banking
Sector. [08]
(B) Explain Methods of Remittance. [08]
Q.4) Explain types of Account-holders in Bank. [16]

[3969]-109 1 P.T.O.



Q.5) Short notes : (Any Two) [16]
(a) Balance Sheet
(b) Liquidity and Safety
(c) ATM. and Credit Card
(d) Bill of Exchange
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[3969]-110
F. Y. B. Com. Examination - 2011

MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) What is Price Elasticity of Demand ? Explain various types of Price

Elasticity of Demand. [16]
Q.2) State and explain Law of Demand. What are the Exceptions to
the Law of Demand ? [16]
OR

Q.2) What is Capital Budgeting ? Explain Usefulness of Capital Budgeting. [16]

Q.3) (A) Explain Income Elasticity of Demand. [08]

(B) Explain “Intentions Survey Method’ of Business Forecasting. [08]

OR
Q.3) (A) What is Payback Period ? [08]
(B) Explain “Security’ Objective of the Firm. [08]

Q.4) What are MNCs ? Explain role played by MNCs in the development
of Indian Economy. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Concepts of TC and MC
(b) Investment for Replacement
(c) Cross Elasticity of Demand
(d)  Mergers
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[3969]-111
F. Y. B. Com. Examination - 2011

OFFICE MANAGEMENT AND SECRETARIAL PROCEDURES
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) All questions carry equal marks.

Q.1) Define Office. Explain various functions of the Modern Office. [16]

Q.2) What do you mean by Record Management ? Explain importance and

principles of Record Management. [16]
OR
Q.2) Define Job Analysis. Explain importance and methods of Job
Analysis. [16]
Q.3) (A) State various methods of Training. [08]
(B) What are the objectives of Office Forms ? [08]
OR
Q.3) (A) State advantages of Training. [08]

(B) State different types of Modern Appliances used in Offices. [08]

Q.4) Define Secretary. Explain various duties and responsibilities of Company
Secretary. [16]
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Q.5) Write short notes : (Any Two)

@)
(b)
(©)
(d)

Courier Service

Advantages of Office Automation
Contents of Minutes of the Meeting
Objectives of Office Manual
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[3969]-112

F. Y. B. Com. Examination - 2011
ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

Q.1) Define Electronic Commerce. Explain merits and demerits of

E-commerce. [16]
Q.2) Explain in detail Electronic Commerce Infrastructure. [16]
OR
Q.2) What is E-marketing ? What is the importance of E-advertising ?
Explain various means of Advertising. [16]
Q.3) (A) Distinguish between Credit Card and Debit Card. [08]
(B) Explain On-line Booking System with example. [08]
OR
Q.3) (A) Explain briefly the following terms : [08]

(@ Encryption
(b) Digital Signature
(B) Explain briefly Electronic Fund Transfer. [08]

Q.4) Explain problems and opportunities in E-commerce in India. [16]
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Q.5) Write short notes : (Any Two) [16]

(@ TCP/IP
(b) E-mail
(c) Banner

(d) Market Place
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Total No. of Questions : 5] [Total No. of Printed Pages : 2

Time :

[3969]-113
F. Y. B. Com. Examination - 2011
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
3 Hours] [Max. Marks : 80

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1)

Q.2)

Q.2)
Q.3)

Q.3)

Q.4)

Explain composition and role of District Forum, State and National

Commission. [16]

Explain functions of Voluntary Consumer Organisation. [16]
OR

Explain Problems of Urban Consumer. [16]

(A) Write Procedure of Filing Complaint under Consumer Protection

Act. [08]
(B) Explain provisions of Standards of Weights and Measures Act,
1976. [08]
OR
(A) Explain Concept ‘Consumer is a King’. [08]
(B) Explain importance of Business Ethics. [08]

Explain provisions of Appointment and Duties of Public Information
Officer. [16]
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Q.5) Short notes : (Any Two) [16]
(@) Functions of Information Commission
(b) Provisions of Prevention of Food Adulteration Act, 1954
(c) Importance of Business Ethic

(d) Ways to Recognize Adulterated Food Articles
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(1) | 997 IS 3G9TF  3ITE.
(2) ISEIBSIT 3iF geATd qUf TOT FIfaar.
(3) FIHIGIST s TS F9AUIAHT GETal.

9.1) ear, T T TEH JEF S0 GRS WAT 9 giHET e w1, [16]

9.2) WIHA! YTEd TESAAl BE T B [16]
e

q.2) BN UTEhIAT THEE] W HA [16]

9.3) (31 UEF TR FEANER THR SAA oA IE5al oral. [08]

() TSATT TRATIT ARCIA, QOETAR aa! T F. [08]
e

9.3) (1) ‘UEH B TS IHE - HehedudT T B [08]

(F) SFEAHS A Jed T F [08]

oA

N

F.4) STHIEAT 37
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[3969]-114
F. Y. B. Com. Examination - 2011

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) State Concept of Business Environment. Explain in detail the types
of Business Environments. [16]

Q.2) What is Unemployment ? Describe in detail the causes and remedies

of Unemployment. [16]
OR
Q.2) Define the term Entrepreneur. Describe in detail the qualities of
Successful Entrepreneur. [16]
Q.3) (A) Explain Habits of Entrepreneurs. [08]

(B) Write a detailed note on District Industries Centre (DIC). [08]

OR
Q.3) (A) Explain in detail the role of Entrepreneur. [08]
(B) Write a detailed note on National Institute for Entrepreneurship
and Small Business Development (NIESBUD). [08]
Q.4) Describe Entrepreneurial Career of Bhavarlal Jain. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Dynamics of Motivation
(b) YASHADA
(c) Entrepreneur as a Catalyst

(d) Economic Development and Industrialisation
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e
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9.5) feur ferer : (ot &) [16]

(37) WIOTE AL

(&) 37er (YASHADA)
(F) ITIAPF - TH IAH
(T) 3MUF TIH™T M7 SR IBIOT
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[3969]-115
F. Y. B. Com. Examination - 2011

INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain socio-economic importance of Insurance. [16]
Q.2) Explain importance of Transport in Economic Development. [16]
OR

Q.2) Explain importance of Tourism in Indian Economic Development. [16]

Q.3) (A) State working of L.I.C. [08]
(B) Discuss various Modes of Transport. [08]

OR
Q.3) (A) State meaning and importance of Logistics. [08]
(B) Explain meaning and scope of Tourism. [08]

Q.4) Explain importance of Goods Transport in Import and Export. [16]
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Q.5) Write short notes : (Any Two)

(@)
(b)
(©)
(d)

Advantages and Limitations of Rail Transport
Opportunities in Tourism
Types of Major Insurance Policies

Career Options in Insurance Business
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[3969]-116
F. Y. B. Com. Examination - 2011

MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Marketing Mix ? Describe in detail various elements of
Marketing Mix. [16]

Q.2) State Objectives of Advertising. Explain various Advertising Media. [16]
OR
Q.2) Define the term Marketing. Explain various functions of Marketing.  [16]

Q.3) (A) State different forms of Marketing Organisation. Explain any one

of them. [08]
(B) Describe various Sales Promotion Techniques. [08]
OR
Q.3) (A) Describe Significance of Marketing in today’s competitive
world. [08]
(B) State objectives and types of Market Segmentation. [08]

Q.4) What is Personal Selling ? Describe various steps in the Process of
Selling. [16]
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Q.5) Write notes on : (Any Two) [16]
(@) Marketing Communication
(b) E-marketing
(c) Importance of Rural Marketing

(d) Marketing Environment
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9.5) feur @@ @ (St §9) [16]
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[3969]-117
F. Y. B. Com. Examination - 2011

FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Distinguish between Proprietary and Partnership Firm. [16]
Q.2) Explain role played by Public Sector in the Indian Economy. [16]
OR

Q.2) “Co-operative Sector has made significant contribution to the National
Economy.” Comment. [16]
Q.3) (A) Explain Current Labour Policy of Government of India. [08]
(B) Discuss Functions of SEBI. [08]
OR
Q.3) (A) Narrate New Trends in Banking Sector. [08]
(B) Explain procedure followed in Commodity Exchange. [08]

Q.4) Discuss Functions of Mahratta Chamber of Commerce, Industries
and Agriculture, Pune. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Joint Venture
(b) Outsourcing
(c) Logistics

(d) Features of Trade Association
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Total No. of Questions :

Time : 3 Hours]

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

4]

(New 2008 Pattern)

[Total No. of Printed Pages : 4

[3969]-118

F. Y. B. Com. Examination - 2011
PERSIAN GENERAL

[Max. Marks : 80

Q.1) Define and illustrate any ten of the following :

[3969]-118

JE#
S
Jr o

(1)
)
G)
(4)
)
(6)
(7)
(8)
©)
(10)
(11)
(12)
(13)
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Q.2) Define and write any two of the following : [10]

6* )
JF @
42 (3)
LIVENNCY
Q.3) (A) Reproduce in your own words of any one of the following : [10]

By = (1)
ik e (2)
f S el (3)
(B) Write any one of the following : [10]
(1) Poetic art of Ameer Khusrau

(2) Style of Ghalib
(3) Life sketch of Saadi Shirazi

Q.4) (A) Explain any five couplets of the following into English, Urdu, [10]
Marathi or Persian :

T8 L6 8T ()
SOT 312 Jo S

& gyt S @
wl}ﬂ:d[/://.ﬁﬂ)&/'

PETDNETIRN G
ﬁf@ldﬁzﬁ St sl L
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e e P 2 @)
el T oot o FEY
‘ u’g 2 dfetfrﬁf (5)
8o a6 g st
et pie ol eon (6)
T =k J; [}l}" /fb 4
Sy d ¢ 2w, @
bl 2 elsT gl §F T yT S

(B) Translate any two of the following passage into English, Urdu [12]

or Marathi, Persian :
(2 S - 4.1'/)7/ (S s é/ S8 - =il (1)
25 03237 (h u{;‘) oy, é/ JCS 2Ty ATV
Iox® 2T oaf 0T o€t S - oy 2 o
0T U1z N1 uﬁ( Jlar 2 29 0 Jby £7 Jr
d/u,;ﬂ;go;‘fd&ff};;uquw
- )L/ Ny

s 1B ST b s S et a0 sl ()
oo T 2wy 4l Lot 246 I ects b
J“ = A S i £ Hlo J ‘Lolfbg s S &
21y 4{. ) A% J - g X JU
- LK (// J{? yIpT:
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sdsap foear S ownidi g 2 F JB s (3)
it et et P S SC 6T s
RS PN TRE Y BEVISTISY
;MJ(V“/L%JJ?}W,&,:Z&.;/
Sl P

(C) Translate the following Unseen English Passage in Persian, Urdu or [08]

Marathi :

One very cold night an Arab was in his tent. His camel was out side

in the cold. The camel said to his master, Please allow me to put my

head in the tent. The Arab allowed him. Then the camel said to him,

Please allow me to put my legs also in the tent. He allowed this

request of his too. Then asking permission again and again he

came into the tent. He then said to his master. There is room for

only one. Please get out of the tent. The camel was very wicked

and faithless to his master.
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[3969]-119
F. Y. B. Com. Examination - 2011
ARABIC GENERAL - |

(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Q.1) Translate into English or Urdu or Marathi any two of the following
passage :

555 - 1536 K15 a3 LAl 5438 305 I ()
wm“'uu“ummg&uum
wmuﬁ;mlu.lﬂlukﬁ,.\d
L,L;L@,JLL;MJ\’”’ Al Jpkisn s
BY 99! XTI YO ER [ ey
Ji L 135 418 K5 ol sl s
z;\;g@mmg Sl I 355 . Gaal
Ly Geall g5al Li d550 5 rall ol
e Laally JR 0 a5as oalad T 4
ol e S0 ¢ G Gl sl

|/,

[20]
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Wala S5 385 o)l2 cud 8 L2 sl

623 J3 - cydi’” 2l il Zaal )
,L:.I\ hiy g &l JAds .83 L §3kis
Zial5al £l . 8laly gl 3 ‘_,J\J.;

: ¢u£&i§$h Lagé 2

R 9'-%"5%34*

R PRy

- La el '—Z—’*ﬂ‘h’lgcsg-'aé

T L e il 8
&b o B33 S
LKA a5 sl s
oSl g B G5
s Lghs U fd
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Q.2) [A] Translate into Arabic any five of the following :
(1) His office 1s far from his home.
(2) There 1s a newspaper on the table.
(3) The girl is sitting on the chair.
(4) This school is good.
(5) On the window there is a curtain.
(6) In the fridge there 1s an apple.
(7) The student 1s going to the school.

[B] Translate into English any five of the following :

J3hda G s
g Xl i
R PI ETER
Q.3) Explain with examples any two of the following :
- AN
- elagl S5
- ) Glaally alaa

[3969]-119 3

(V)
(Y)
(¥)
(¢)

QY
(v)

(1)
(Y)
(v)
(%)
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[10]

P.T.O.



Q.4) [A] Summerise any two of the following :

[B] Write in Arabic any two of the following :
Zun 7 s 59
- B sl ) 5 T

g s LT
oLl BIA 534z

(V)
(¥)
(¥)
(¢)

Q)
(v)
(v)

[C] Write a letter in Arabic to the Business Manager of Company :

2 50 sk Tl 3 AL L
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Total No. of Questions : 5] [Total No. of Printed Pages : 3

[3969]-120
F. Y. B. Com. Examination - 2011

ADDITIONAL ENGLISH
(New 2008 Pattern)

Text Prescribed : The Joy of Reading Literature

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read paragraph carefully and find single words for the
phrases given below : (Any Four) [04]

One dollar and eighty seven cents. That was all. And sixty cents
of it was in pennies. Pennies saved one and two at a time by
bulldozing the grocer and the vegetable man and the butcher
until one’s cheeks burned with the silent imputation of parsimony
that such close dealing implied. Three times Della counted it.
One dollar and eighty seven cents. And the next day would be

Christmas.

(@) A monetary unit equal to one hundredth of a dollar.

(b) Everything that is left.

(c) A monetary unit equal to one hundredth of a pound.

(d) Bullying or using force to compel someone do what one
wants.

(e) Miserliness, being very stingy in spending money.

[3969]-120
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(B)

(€)

(D)

[3969]-120

Fill in the blanks with correct form of the verb given in

brackets : (Any Two) [04]

(@ Ramesh (lose) his file while he
(sort) important documents yesternight.

(b) Every weekend, we (arrange) an excursion
and (spend) week that follows in hard work.

(c) When parents (reach) home yesterday evening,
children (watch) ‘Discovery Channel’.

Add a suffix to the following words to make another word :

(Any Four) [04]

(@) Wonder —

(b) Quick —

(c) Manage —

(d) Shameless —

(e) Disappoint —

Give antonyms of the following words : (Any Four) [04]
(a) Professional

(b)  Success

(c) Rise

(d) Solution

(e) Meaningful

2 Contd.



Q.2) Answer any one of the following in detail : [16]

(@) Describe Gangu’s personality prior to his marriage.
(b) Describe reaction of Jim on seeing Della with short hair.
Q.3) Answer any one of the following in detail : [16]
(@) Why does the narrator in “stopping by woods on a snowy
evening” decide to move on despite the beauty of the woods ?
(b) What qualities does Rabindranath Tagore wish his country to
have ?
Q.4) Answer any two of the following in short : [16]
(@) Describe misuse of language in advertising. What is the role
of falsehood in advertising business ?
(b) What does Pundit Nehru say about Mahatma Gandhi ?
(c) Describe way in which Paul and Patricia discovered who Mr.
Markie was.
(d) What did Della’s hair resemble ?
Q.5) Answer any two of the following in short : [16]
(@) Why does Langston Hughes refer to himself as “The Darker
Brother” ?
(b) According to Emily Dickinson, who can best define victory ?
(c) Give central idea of “The World is too much with us”.
(d) Comment on the theme of sonnet 29.
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(1) T - Pl ATl

(2) WEEAd WA, AN
(3) 9, A ;. M AT TSR

¥.2) USITUsh! HIUTATEl BT Woidl IWX Ro U’ ferer [10]

(1) THART /IS & 9

(2) fIsad T IT=AT UOARihd Bedd ATd "L
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o\

(4) B ’I\A FAW AT MHARA A B ¢
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(6) SHTETE W AT Y.US. ST HOTET AEMTIEdTd gar fHesar ¢

(7) “OId 3% WA’ JY AT TAedT AT TN HTHATY BT
HIOT BT 9

(8) ‘FUMHIS B JAMAANA FUMT 3ME ¢
(9) ‘IgreATaal’ AT FeEde@ €T 39 IET SOl YiHST Heser ¢

(10) FSHARAR MU THT AT HISAARUAT TSI TATIA BIOTAT T

framer ?
(11) ™aE TId e & FUmal ATahal SREET 3

(12) ‘3THEaE’ 91 RESEAR! GUE® BT 3MMad ¢

(13) IMHART AEEAMRIA A=l &9 9T |,

9.3) USITUsh! FIUETE! THT YoM IO 4o FA foTar [05]

(1) ST HERST AMOT HECAT T I uat 1= 31a=e I
FT IMET Iiedl ¢ 2 WA [audy’ a7 el YR T 6.

(2) YIHa A ‘Fhraq g A 9

9.4) YEiud! FHIOATE! THT FA™ IaX 4o Ed foral [10]

(1) ‘o= TEAd axar 79 RueromEr e SR ofet. v e
FEOT M7 AWOISAT AN Ol =l

(2) i IFA FAW T THEAGA TRASTT BT TEBR AT
A 9
9.5) eicud! FHIOTATE i FeA=r IAX ol [20]

(1) o g& B T ST% JAIAd AHISR AAA 0T 3TTE.

STTeai=aT 3R 375 foTar.

(2)  TAHTEH ITTHATHES THAT AT IAHATAT ASAATS! T ACRTTHITHRS

IS, o fawmmaw fewmft et
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(3) STAEAT Yihias HATah qHAic@ard TafTer Terfa TSt HIoar

g foanRfa T de® e, FE ol g ond. Sew
glaga feret.

(4) “TMF BEAE IFAITAT HRATAAS TEHREN EomIi= e

St UEH RATIIE! iaaT ANEuaT I 3Mmed. iasr g et

9.6) HIUTATE! THT HATd WX foTar - [10]

(1) <STEUi ST BROS!, Toiggl faeTaes W H8hi™
o o o X o
TS IMAET FON AR aed qemaiasds  {dal.

(2) URIAUH HITATE ThT (TR JATAHIS! JTEraT AYET el -
(i)  =ar "USr NgRET
(i) AT T HEUEE I

9.7) () Ui A TF A ARSEEE $6d §HIS NS
g1 [05]

TATHT HiSdoll Fihd=l 3T df3eT 3Med. &7 TeHal T

Jos Tl HIOT T AU [BAgAT AT ISTE AEA. HRETT
AEAH TTYT IS HOATAAST BT IATGT 3T 7 HIOTT
JAGT ST HEd AT YA+ dIead Ao, WAl ST WUIard Wil
P HeH 3MMITATT. TG TAT BN HeaATel oAl THA T ISy
Fepte Ul TcdT. 3MTqed & gdt HEBrar AR &dr Siar ar
JENT FAAT. FIAHTTATHAAT ATTH JTaTer THATIT T%67 FHesqH Suaremn
I ST, IS q@ad A3 AN q@amdl, &qd JagTd

T ANAET T [9FA A% FAAEEl IW §F gE .
(30 UR)
EEL
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()

qeid S 3arTd NS WIWiaT &N

The Unique Idenification Number will not substitute other
existing numbers a person may have (PAN Number, Passport
Number, Ration Card Number etc.). Rather, it will be an
additional, unique number to be cited with existng one for
different purposes. This will help weed out duplicate and ghost
cards that are widespread today and may be benami bank
accounts and property deeds. In addition to this, these cards are
expected to enhance national security, prevent terrorist attacks
and stop illegal immigration.
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[3969]-122
F. Y. B. Com. Examination - 2011

SANSKRIT
( STHTHIAT )
(New 2008 Pattern)

9% : 3 M [TERUT TUT : 60

Q.1) Translate into English or Marathi any two from Section ‘A’ and any

two from Section ‘B’ from the following passages : [20]
7.1) UEierdst 37 faunTdie FIoendl e 9 q [9nIdier ioTerat
e gusila fhar Aol WINiaY &9 [20]

SECTION - A (T - 39)

(1) THIT TEEAA HETAT TISTATT ABRIeAS A ST | a
AR YA TRIASTH B goAd | TEFAT A TRIIATE -
At AT HAAT HE TAUH BRI AL | THEdR Ty |
Tl STA WA U9 SRS | AR ArEEan BUH o
TEHAT SOeHA: AT W, q§ JeraEane |

(2) GIIUTRT UT, qAT q@& ST Uid, TR 9id, TEEAS i,
T Fid T 3MMET WAAAHET: B 36 qregraia- & 3=
rEel: URA A | R AW 9AAd, WRa THarE
THATAT: ITTUSATATY BIUT 00T &ROT =, ST T, AT
Al TEHAMTE , WRAS §h6 ARG Hde wad |
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3)

(1)

(2)

3)

AT ETE T T | GoH F Sqal Taies: fgries]
T AGA: DI FANIS: Bd: | T@ AT TEAET IERY
v ataQNoTRR T I THSa TR | Jrdrd arasTe sty
T2 T8 TATATH, TAMIHT TOTITTISTHAAN | 31T [ET TS caaeis
HqAMS TAAE ATHAT: B |

SECTION - B (fwmr - @)

FAT T @Y J o a9 FA=AT |
T 9EHE dR Jearguad:

al IERNUIT. TETRIRATTE 9@ |
JILIAT dawaT AT TEATHEA |
THEEE argedr R

T feear wRiE e |

YT JET EEEY A

=i 3§ $Pad 7 ¢ @A |

O OIS HiHl AYEEAT wgergen
39T IO STOT: YEI™ SIETHT TEHEEAT |
T IBISAST: FhAHdd  ATHAA

fpaie: 90 wWatg #adi A9l ||

Q.2) Explain with reference to the context any one from Section ‘A’ and

any one from Section ‘B’ : [10]
7.2) 37 [qWNTdial ol U T ‘9’ [IUETdidl Hiotdaral Tt
TIWIHE WSIHOT B [10]
SECTION - A (fawmr - 31)
(1)  ToT RN |
(2) UFAHT TONYG  ShRATdTATEE |

(1)
(2)

[3969]-122

SECTION - B (fawmr - @)
Tereel & gardt Jauetst |

Y TUEEAEnN: 9q T fE: |
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Q.3) Write a long answer of any one of the following from Section

‘A’ and any one from Section ‘B’ : [20]
.3) ‘37 TIWNTIr HIUTATEt UHT 99T 9 ‘@ [IWmTdier BoTemal oeht
TS iy 3T foTar [20]

SECTION - A (fqwmr - 37)
(1)  Write a note on ‘gga=®’ with F=faafaon HAT.
USAqeTdl Aledt WHA HgraRel HAT @@l
(2) Write a story ‘mﬁaﬂﬁl‘«ﬁi’ in your own words.
FINGAMEA’ & HUT TAAT A& (@@l

SECTION - B (Rrwmr - =)
(1) Write summary of the lesson ‘“HIEqIT.
AT uIerET A foer.

(2) Explain the types ‘@miareed Waia®r, FeeAl®d  with example.

dlispldl<dH, ‘ASR’M’)I, PP HIRTEWUT I Hh.

Q.4) Write short note on any one from Section ‘A’ and any one from

Section ‘B’ : [10]
T.4) ‘37 FrAmTiel FIOTETE! ThTaT 4 ‘@ [rmdiel FIoTeaTal Ushtay fad<es
S foter [10]

SECTION - A (fawmr - 37)
(1) Character sketch of ‘dwm=a.

(o) o
AUITAHTHT YT

(2)  TTOTRTTRTE |
SECTION - B (fromr - @)

(1) =oms=E |

(2) wEgE |
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[3969]-123
qUH g9 qiued g9t - 2011

Ta=t
(A j00¢ TeA)
T : 3 9| [‘3\'011?5 : 70
qegE® ¢ (1) FEEERT ;- TErEIE
(2) TIETEIRT : FBIAEUE

(1) ¥t gog 3ifaard & |
(2) g 37T ford 3i woA & gonie F

7.1) (3N TfaRad # ¥ FF=t S 9T & I 94T | o [06]
(1) =1 $ Uoig  TEAd OX MYAN B FAT FiarepAT oA 9
(2) FHHT B IWT UG F JOA BT |
(3) Hfefgs IR BT 9R=d S |
(4) WS SAFES B AT H AMAA & Bl ABL ASTH GITe
7o oa e
(3m FrAfaREa & & (6=t 81 9ol & 3w "@ew | fafed [06]
(1) R 3 FF ATGAT HT TOEH BT GAE 7 [FT THR 6B
g ?
(2) ‘elig ® U & B Biadr & Hiq TEq6T 7 gawe fqusw
uRRufqat wt a9 fabra e 2 o9
(3) TS H WEA Ud A FT SO fEAT 9
(4) ‘FA-S9 BT IS TPH BAAT BT 4 THT @O0 B TATEAT

HT T Y gbR fEmm & 9
[3969]-123 1 P.T.O.




7.2) (31 Tr=fafea # 9 T o sraaen o gusd e ST ;- [06]

(1)

(2)

(3)

et & ST | # ar de @t st ® redt § | 9E
A AT 0T & | & 39T SRt Bl BighT Aai ST T |

S FH A9 39 &, 5@ W @, fTEw s &, w1
FE &, aF FE &, TH 0 A A w9 wefw & g
Sitgar & ¢
IfeaAt el | Ao del, A al JIHd & T ST JAN 8T8
% o T |

(3m frfaiaa # ¥ =l S aan & TEed IR sitg - [06]

(1)

(2)

(3)

FE-TH FAT B,

T W Ul g FRAT BT BT TH |
ST H AT qRa § St g%
Afsat F TH A

gat & M IR 3T b eNAd UT |
AT T W AL g3

9 & WEW W W@l

IO FST H I A =@ @mpm T2 |
BT AHI-51 o

femé

I X WS - 98 G

T W o1 T A, T

gIHT  HgHT

F-ag TR # |

7.3) fembmt farag -
(37) g 3T e &t fH=ar | [04]

STIAT

(37) SFEET | [04]

[3969]-123
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(3M) TEEY H AEA | [04]

ST
(3M) ‘At W FHET Hiaar F T | [04]
(3) Fr=faRaa & ¥ 6=t o8 vt & Us-us a9g & s fatag © [06]
(1) &% & Td & u+ dqag fear oar ¢
(2) TF9 3BT ¥ -9 U@ B AR AERAT BT A [THE
FH @ 7
(3) W TR T BT WA o1 9
(4) QA FAAET TER W FT AN (T AT 2
(5) T & wWigsy w1 oy e Jif @ g ® 9
(6) HIT ATUSHIROT T F IR [HH FAAAT Bl FWET AT 2
(7) 9 g=a9 F ;AR &9 fhw Wigt & o= gt & ¢
(8) HIT W F AWT BT W M TS [HA Fal & ?
(9) FHT ARRX F JAR & JTAMT & HH AT FEAT & 9
(10) ‘FET Hladr F IAR M 67 ghet @ 3w S@r & 9
9.4) 31 TAarga & 9 f6dt ™ 13 F7 yey R Sine [06]
(1) T/ WA HeaTl, 4’%, ARH H@A!, 07 & GO, HEEH
HETITE™, qUf & AT [dfu® 98 & [0 aed o fasrar /
fererdt 2 |
(2) vEu®, I Wied, fqas g, TR ¥ 74 dT FHal,
AT S, REAT & AT MET B AR AT A Wl S
H AR FEATIE OF foTdar 7 |
(3M) FETaRad [Iaue STET adesd B AHAT AR S 0 [06]

[3969]-123

(1) BE T FoHc Far FT T |

(2) U WG H FOA JH 9=E=q / TR A G H e =T |
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(¥)

7.5) (371)

M FeEfRgg § 9t ts favw &1 sa-faar s

Al ® & 6l 88 Il & JE %% A
(1) @™\ = AT H G FTIT B Al & |

(2) ¥ 7 fem #H ReR F |

(3) Ul ¥ IR W TR FH |

(4) | FEMEE F OBE T A |

(5) X HEryar g E |

(6) WAT # oid ¥ga A o |

(7) 3 FT THR TG 4T |

(8) BHIM WS & Ugra=al W TA-T =TT |
Al # ¥ 62t 9| a3 Gt annee as
ISEED R

(1)  Unit

(2) Security

(3) Rebate

(4) Quotation

(5) Pay Scale

(6) Minutes

(7) Loss

(8) Investment

(9) Claim

(10) Audit

(1) od & o 2 |
(2) U guAg @ ATe |

(3) T gEq T TE SATEr |

[3969]-123/4
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[3969]-124
F. Y. B. Com. Examination - 2010

GUJARATI
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks :

80

W) Amidl SiS wa 2s [Qua u Mol qull -
(1) otealdl ounsl
() wuwdl udlen ugly
(3) AR > Ay
(¥) il dweduR Aol

-

W) 419 Ul As Ul Al Gdr duil ¢

P
() [Bsl aldl>lxi »udvudel 2usl
(2) [R5l ald>0Hi 2vidl wand-dl QR 390

-

U.3) 519 Ul As usdl AlARAR G dvil ¢

1) el slAdipiinl >udeuadl ([@laada

(1)

() Yeudl syl Al wadl usdy
wy) (1) gsin @vil : (51 waL As)

LRICEIE]

Bslvd A Agavii-l [gal

)
(1)
()

(6) sl avll @ (515 uwL AAs)
(1) ‘o addl Gursi s B
()

‘@13l ol sladl dua-l

[1€]

[1€]

[1€]

[0¢]

[0¢]
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wu) (1) yaluz 2Aeiy avil @ (s a8 - 2s ua) [0¢]
(1) ol wadla wudl, sie o G Al ?
) Bl Bz uivt uely, da edd deae.

(2)
(3) AWML dl uecud] 8 uel L 2.
(%)

¥)  sdR Al dl S gt e Yol olA WA .
() ooyl AMHIA Avidl tlold IS Uad Qv [0¢]
x4l
(61) sl wousi AeAdd @Al [Bauddl sedd duR s [0¢]
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[3969]-125

F. Y. B. Com. Examination - 2011
SINDHI
(Arabic)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

[20] _;9){3 u\}bl_p UJ]}""’ Q.m; 2 wsé ULO U»JJD ‘\ ‘Jlj)"

(Bo Gy |ias uﬁ/ﬁuSJ -
e U‘L“"'L"H ;Mb Zsl_, c){‘-‘ U_LC 9
9o Lf/—°’~5 sV &8 t§.>|9(:.:hl G 5u~1~"/J

553>
gy(p—ﬂﬂ»‘
PR
i A GL wo gsom ..

w’*S" QLD

//
{',_,J_> U\L'L)]f ‘_5/43-5 —b(_,._u.»\ (_/-»*.5/-—’
£ 5 W)JL)J’J— ‘))’4/0
Lo/j
< I 5 o3 99,//_}‘)5-! ‘uJ-’/ 09 U*‘ ‘:
gpms @y Y s ek
. . . e . :.(5 _)}J s, (/.J/_9
b 97 p ol ol gm el
Vet 2l Md‘ﬁi
o sis o g 5l 5 e S
. o
éﬁf@ﬂ‘ﬁ)ﬁ“’ﬂ /] iy

o g'um Jw:b S "
Z
p Liey o

foxt L'> «//)»y

[3969]-125 1 51O



el 12
£ olis oole o Uf UJ/SSJ/

(,»ﬁ(&y/lo ) :?/sgfwb 5u>[,» we ot
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CU‘DHU&/‘ E/'J : Ly -3
T \ynE e .>L»-'~‘ P

ool woe® go o Wl 4

eoln N
qu}o&ébjﬁup 7 sAB /15° oo 35T
[30] —15Auw€0§3w9wgusuu u-“JD‘Z/ J'ﬁ*"’

_slls 2 4 /o/,mr/ bt
\/)Ja—b ol U/LDDJ 2

UD)—(UPWL.J 3
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Total No. of Questions : 4]

Time : 3 Hours] [Max. Marks :

[3969]-125

SINDHI
(Devnagari)
(New 2008 Pattern)

[Total No. of Printed Pages :

2

80

qATA-1)

[3960]-125

dfeatr @t fefw T et gEetv o sew fawt

1)
(2)
3)
(4)
()
(6)
(7)
(8)
(9)
(10)

(11)

(12)
(13)

THHIT W HlEST Mb g 2

IS W AT IAg H Hleg (TSI H oA BN O?
SYAreT, st & 3TemaTat RgvT @g $leg T9 TRt ¢
T & IS ARgdT & Spd F TN F Higer J07 ST 9
T T B HES! AGISAT AT ?

AT Hic o T& AT B gFr ¢

TaRETe afem SiItet, Tad Tae= ST W Higgh Mg A7 ¢
TSR T TE9HRT S FIAaaqd | Hiegl qq faemwd & ¢
IO UagR U ATNg HiEgt HH HaT g 7

Mid-day (TH=-3) &R # @Ay & A REeT St &ex
it BUEA g 9

ATGTRT ST STAETO, HT<ie TaSiey AF Reem & 993, g
L I D

EE M W & MRE d st Hue & ¢

SHY ST QMGIST ST TS 0T o HIeS TR higer o
ECIRN

[20]
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qATA-2)

HATA-3)

HdTeT-4)

gfentr @t fef o Tt gaete s s 2R e omvm
50 @wsta | fasn [10]

1)

(2)
3)
(4)

AT TR FIATH T ITAIATS AT HIeg! Al qeay T

A T B¢
JME Witesr e S TRt omgT HIF ImME ?
g H gEEE S Hiesl SfeEd e ?

g W AT Hif e wEeEr ¢

fcafy @ fefa T Tt gawfs 1 S awftear ot @ [20]

1)
(2)
3)
(4)

A3 S TR SR,
WY ST 3fS S d S S 9w Fed o 9

AT ST [hERTRY A,

giea @i {6t v R fwafr & #@sgw foen - [30]

1)
(2)
3)
(4)

Y 3MHH H F HcATh

TEEl W S 4%

CIECC IS MGG CIRD

ST H 3RT S &St
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Total No.

Time : 3

of Questions : 5] [Total No. of Printed Pages :

[3969]-126

F. Y. B. Com. Examination - 2011
FRENCH
(New 2008 Pattern)

Hours] [Max. Marks :

6

80

Q.1) Ecrivez une lettre sur UN des thémes suivants :

@)

(b)

\ous écrivez une lettre au directeur de la Société Infotechno pour
demander un emploi comme secrétaire qui parle francais, I’anglais
et hindi. Ecrivez une lettre pour cette poste. Vous donnez tous
vos détails.

Mme. Nathalie Boireau est la secrétaire d’une société a Paris.
Son directeur va partir en voyage d’affaires a Lille en France.
Elle écrit une lettre a la Société Supermicro pour donner les détails
de son voyage - la date d’arrivée et de départ, le numéro de
vol, le nom et I’adresse de son hotel, la durée de son séjour
et la date de son retour. Ecrivez cette lettre.

Q.2) Ecrivez UN dialogue de 7-8 répliques :

@)

(b)

Q.3) (A)

[3969]-126

\Vous étes en voyage d’affaires au Canada. Vous allez dans un
supermarché pour acheter des cadeaux pour votre femme et votre
fils. Ecrivez le dialogue avec les vendeurs.

\Vous étes a Lyon. Vous allez a Strasbourg par le train avec vos
amis. Vous étes a la gare pour acheter les billets mais vous n’avez
pas de monnaie. Ecrivez le dialogue avec I’employé.

Traduisez en anglais :
La Carte Pass

La Carte Pass a deux fonctions. C’est une carte de paiement.
\Vous n’avez besoin ni d’argent liquide ni de chéquier. Vous
présentez tout simplement la carte et en utilisant votre code secret
vous pouvez faire jusqu’ a 5,000 Euros d’achats par semaine.
Elle est aussi une carte de crédit permanent, vous disposez d’un
prét de 2000€ a 20,000€.

[10]

[10]

[20]
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Le Diners Club

Diners Club vous offre un crédit de 3000 a 140,000€, que vous
pourrez utiliser en toute sécurité. Ainsi, vous aurez le choix,
chague mois de régler vos achats en France et dans le monde
entier au comptant, en trois versements ou a crédit. Si vous
souhaitez bénéficier de ce service, il vous suffit de le mentionner
sur votre demande de carte.

(B) Traduisez en anglais :
En Charente - Une belle maison.

Constructions aux formes modernes, nouveaux matériaux, murs
blancs, tuiles roses. Elle comprend un rez-de chaussée, un étage,
et un garage.

La salle a manger est a cOté de la cuisine. L’entrée, I’escalier
et la salle de bains sont a I’arriére de la maison avec la lingerie.
A I’étage, il y a quatre chambres, deux salle de bains et un grand
balcon.

Q.4) Compreéhension : Lisez le texte suivant et répondez aux questions
qui suivent :

Claire veut ouvrir un compte a Angers.
L’employé : Madame vous désirez ?

Claire . Je vais travailler a Angers pendant six mois a partir de
janvier et je voudrais ouvrir un compte.

L’employé : Oui. Vous avez une piece d’identité, s’il vous plait ?
Claire : Oui. Tenez, ma carte d’identiteé.

L’employé : \Vous avez une adresse a Angers.

Claire : Oui. C’est le 6, rue Saint-Etienne.

L’employé : \otre profession ?

Claire . Chef du personnel chez ITEX.

[3969]-126 2 Contd.



L’employé : Bien. Vous déposez de I’argent sur votre compte,

Claire

aujourd’hui ?

Oui. Je voudrais déposer trois mille francs aujourd’hui.
A partir de janvier, mon salaire va étre viré directement
sur ce compte.

L’employé : J’ai besoin d’une signature. Voulez-vous signer ici, s’il

Claire

(A)

(B)

(©)

(D)

[3969]-126

vous plait...

Je voudrais aussi une carte de credit internationale pour
mes voyages a I’étranger...

Dites vrai ou faux : [03]
(1) Claire vient d’Angers.

(2) Elle n’a pas de carte identite.

(3) Claire est chef du personnel.

Répondez aux questions suivantes : [03]
(1) Pourquoi Claire, veut-elle une carte de crédit internationale ?

(2) Claire, quelle piéce d’identité donne-t-elle ?

(3) Claire va travailler pendant combien de mois ?

Donnez le contraire : [02]
(1) ouvrir

(2) déposer

Donnez I’infinitif : [02]
(1) voudrais

(2) tenez

3 P.T.O.



Q.5) Grammaire et vocabulaire :

(A)

(B)

(©)

(D)

(E)

[3969]-126

Mettez au pluriel : [04]
(1) Voici un petit appartement assez spacieux avec un garage.
(2) Il va parler a son collegue par téléphone.

Mettez les verbes entre parenthéses aux temps ou aux modes
indiqués : [03]

(1) Est-ce que vous (vouloir = présent) louer une maison.
(2) lls (boire = passé composé) du vin.

(3) (Demander = impératif) le prix s’il te plait.

Complétez avec les prépositions : [02]
(1) lls vont Hongrie

2 quel nom vous voulez réserver les chambres ?
Mettez au négatif : [06]

(1) Vous avez une chambre ?

(2) 1l va chercher un petit hotel.
(3) 'y a un train toutes les dix minutes.
Trouvez I’objet direct : [05]

(1) Jaime boire le vin.
(2) Claire veut réserver les chambres.
(3) Lisez le document
(4) Tu laisses le message pour moi.

(5) Prenez-vous le métro a 8 heures ?

4 Contd.



(F)

(G)

[3969]-126

Dites vrai ou faux : [05]

1)

Le directeur général dirige I’ensemble des activitiés de
I’entreprise.

(2) La féte du travail est le 5 avril.
(3) Un passeport est une piece d’identité.
(4) On peut acheter une raquette de tennis dans la section
‘sports’ d’un grand magasin.
(5) En France, on peut acheter une télécarte dans un bureau
de tabac.
Choisissez la bonne réponse : [05]
(1) Un habitant de I’Angleterre est
(i)  Angers
(i)  Anglais
(iii)  Allemand
(2) Dans un supermarché on achéte un paquet de yaourts dans
la
(i)  poissonnerie
(i)  cremerie
(iii))  épicerie
(3) Pour déposer de I’argent on va

() a la gare
(i) a la banque

(i) au bureau

5 P.T.O.



(4)

®)

Quand on va louer un appartement on va
(i) au bureau de change

(i) dans une agence de voyage

(iii) dans une agence immobiliere

La féte de I’anniversaire de I’Armistice est le
(i) 1 novembre

(i) 11 november

(i) 17 mai
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[3969]-127
F. Y. B. Com. Examination - 2011

GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]

(1) Was machen Sie in lhrer Freizeit ?

(2) Wie viele Geschwister haben Sie ?

(3) lhre Freundin hat Zahnschmerzen. Was soll sie tun ?

(4) Sie moOchten Blumen Kaufen. Wohin gehen Sie ?

(5) Nennen Sie zwei Nachbarlander von Deutschland !

(6) Wo kann man eine Reise buchen ?

(7) lhr Bruder hat eine neue Wohnung gekauft. Was schenken Sie

ihm ?
(8) Nennen Sie zwei deutsche Firmen !
(9) Was essen Sie gern als Nachspeise ?

(10) Wofir ist die Stadt Pune bekannt ?

Q.2) Lesen Sie den folgenden Text und beantworten Sie die Fragen !

Niklas, 24, Student, spielt seit 73 Jahren Saxophon. Das Instrument
passt gut zu Pop-Musik und Jazz, meint er.

Er spielt in Diskotheken, auf Festen und Partys, meist in Berlin, aber
auch in London und Stockholm., “Der Job macht mir SpaR” sagt
Niklas. Aber die Arbeit kostet viel Zeit, weil die Partys spat anfangen
und bis zum néachsten Morgen dauern. Niklas hat manchmal mehrere

[3969]-127
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Auftritte am Tag, etwa um 23 Uhr, um 1 Uhr und dann wieder um
3 Uhr morgens. Meistens unterhalt er sich danach noch mit Freunden
und fahrt dann erst nach Hause per Anhalter, weil er kein Auto hat.
Niklas schlaft dann oft bis zum Mittag.

Noch lebt Niklas bei seinen Eltern in Kladow, in der Nahe von
Potsdam. Friher war hier Grenzenmauer zwischen West Berlin und
der DDR (Ost Deutschland). Aber 1989 war die Grenze in Deutschland
offen; und die Menschen in Ost und West konnten einander besuchen.

Niklas hat zwei Muttersprachen, weil er Deutsch und Schwedisch
schon als Kind gelernt hat. Sprachen faszinieren ihn und er spricht
und lernt noch einige mehr.

Auftritte = Performance, Grenzenmauer = border wall, per Anhalter =
hitchhiking = to take lift, sich unterhalten = converse.

(A) Fragen : [08]
(1) Warum schlaft Niklas oft bis zum Mittag ?
(2) Was spielt Niklas ? Und wo ?
(3) Wie fahrt Niklas nach Hause ?
(4) Wann war die Grenze in Deutschland offen ?
(B) Sind die folgenden Aussagen richtig oder falsch ? [02]
(1) Niklas hat manchmal Auftritte um 11 Uhr in der Nacht.
(2) Niklas wohnt schon 13 Jahre in Deutschland.
(3) Niklas findet seinen Job interessant.

(4) Niklas hat keine Zeit fir seine Freunde.

Q.3) (A) Ubersetzen Sie den folgenden Text ins Englisch oder Marathi !  [10]

Johannes (16) fahrt mit dem Fahrrad zur Schule nach Bergheim.
Acht Kilometer weit liegt sein Wohnort von Schulort. “Ich fahre
fast immer mit dem Fahrrad. Deshalb habe ich eine gute
Kondition”, erklart er. Ganz der Sportmann.

Fruher ist er mit dem Bus zur Schule gefahren. Das dauerte
zwanzig Minuten l&nger, denn der Bus nimmt nicht den direkten
Weg zur Schule. Deshalb féhrt er lieber mit dem Fahrrad.
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(B)

Sonia (18) sagt, “eigentlich wohne ich eineinhalb kilometer weg
von der Schule, aber zu FuB ist es mir zu weit und einen Bus
gibt es nicht, “erklart sie. “Mit dem Fahrrad geht es einfach
schneller.”

Ubersetzen Sie ins Deutsche ! [10]
(1) I must go to Berlin on Sunday.

(2) Do you help your mother ?

(3) My brother likes to Swim.

(4) Our Microwave is out of order.

(5) Hlona gets up at 7.00 o’clock.

Q.4) Grammatik und Wortschatz :

(A)

(B)

[3969]-127

Ergadnzen Sie das Perfekt ! [05]

(1) Martin, _ du deinen chef _ ?

(2) Der Auslander _ zu Mittag in einem indischen
Restaurant

(3) Die Lehrerin _ unsere Hausaufgaben

(4) __ ihr am Mittwoch abend zu Hause = ?

(5) Wir __ alle Freunde zur Hochzeitsparty =

[korrigieren, sein, anrufen, essen, einladen]

Bilden Sie die Fragen ! (nur drei) [03]
(1) Die Bluse kostet 65€.

(2) Die Suppe ist zu sauer.

(3) Das Konzert fangt um 7 Uhr an.

(4) Nein, ich wohne in Frankfurt.
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(©)

(D)

(E)
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Ergadnzen Sie die Modalverben ! (nur 3) [03]

(1) Meine Freundin ist krank. Ich sie besuchen.

(2) Was Sie trinken ?

(3) Ihr habt morgen Prifung. Ihr lernen.

(4) Karin ist krank. Der Arzt sagt, sie zu Hause
bleiben.

Ergédnzen Sie die Endungen ! (nur sechs) [06]

(1) Meine Wohnung hat ein Klein Balkon.

(2) Schauen Sie d berihmt Brandenburgertor !

(3) Ich schenke mein Grolimutter ein Pullover.

(4) Frankfurt hat ein grol Flughafen.

b)) D groft Kirche in Deutschland ist Kolner
Dom.

(6) Wann hast du dies modern Auto gekauft ?

(7) Leider mag ich alt Filme nicht, aber alt Musik
hore ich gern.

Erganzen Sie die Personalpronomen ! (nur drei) [03]

(1) Herr Engel, wie schmeckt diese Suppe ?
Die finde super.

(2) Wann gibst mir mein Buch ? Ich gebe dir
am Mittwoch.

(3) Anna und Monika, wir besuchen néchste Woche.
Seid abends zu Hause ?

(4) Die Dame kommt aus Frankreich. Ich habe gestern
kennengelernt. Ich will fur Hilfe danken.
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(F)

(G)

(H)

Q)
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Erganzen Sie die richtigen Verbformen ! (nur vier) [02]
(1) Zum Frihstick _ sie immer ein Ei.

(2) Peter _ immer im Supermarkt.

(3) Bitte, _ Sie die Tur!

(4) Wann __ du nach Delhi ?

(5) Einige Schiler in meiner Klasse ~ immer schnell.

[einkaufen, fahren, essen, aufmachen, beantworten]
Ergénzen Sie die Possessivpronomen ! (nur zwei) [02]

(1) Wir wohnen in einem Hochhaus. Wir kennen
Nachbarn nicht.

(2) Lernst du Deutsch ? Wie heilst  Lehrerin ?

(3) Silviaund __ Trochter machen Urlaub in der Schweiz.

Ergénzen Sie die Prépositionen ! (nur vier) [02]

(1)) _ Montag  Freitag habe ich keine Zeit.

(2) Wo ist Anita ? _ dem Telefon. Sie spricht gerade
__ Neha.

(3) Den Fernsehen stellen wir _ den Tisch. Der Tisch steht
_______dem Schrank.

Erganzen Sie das richtige Wort ! (nur vier) [02]

(1) Inenem __ muss man leise sprechen.

(2) Mein Freund raucht gern. Ich schenke ihm

(3) ist neben dem Bahnhof. Da kannst du Briefmarken
kaufen.

(4) Wir haben Ferien im

(5) Wien ist die von Osterreich.
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(J)  Was passt : (nur vier) [02]
(1) Tee : Tasse Saft :
(2) Zeitung : Lesen Radio :
(3) Reis : Kochen Kuchen :
(4) Sonntag : Tag Juni ¢
(5) Wasche : Waschen  Geschirr ©:
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F. Y. B. Com. Exmination - 2011
URDU GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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The college examination was over and Shahid was
going for a park. He was going alone on his new
bike. He rode out the city. He went towards the
ghat. He was going very fast. Then he saw red
sign. [t means 'Steep Curve Ahead'. Shahid did not
slow down and dashed against the hill side. He fell
down with athud.

[3969]-128/4

(2)



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3969]-129
F. Y. B.Com. Examination - 2011

COMPUTER APPLICATIONS
(Theory)
(Vocational Course-1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) Figures to the right indicate full marks.
(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Define the following : (Any Five) [05]
(@ RAM
(b) Search Engine
(c) Types of Browsers
(d) Cache Memory
(e) GUI
() Hub
(@ Arithmetic Logic Unit

Q.2) Solve the following : (Any Four) [08]
(@ (220),, = (),
(b) (345), = (),
(c) 1101 - 100
(d) Solve using 1’s Complement Method : 1011 - 101
(e) 110 * 11
() 1100 / 10
[3969]-129 1 P.T.O.



Q.3) Write short notes : (Any Five)

(@)
(b)
(c)
(d)
e)
(f
(9)

Control Panel

Edit Menu of Microsoft Word
Magnetic Tape

Search Engines

Cache Memory

Mail Merge

Clip Board

Q.4) Answer the following : (Any Three)

@)
(b)
(©)
(d)
©)

ROM, PROM, EPROM, EEPROM
Custom Animation in Power Point
Internet

Use of Excel in Business

Primary and Secondary Memory
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[3969]-130

F. Y. B.Com. Examination - 2011
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Write short notes : (Any Two) [16]
(@ Communication Process
(b) Event Management
(c) Communication Skills and Presentation
(d) Means of Communication

Q.2) What is Communication ? Explain need and importance of
Communication in the filed of Marketing. [12]

OR

Q.2) Explain various problems in the Process of Communication.
Suggest the measures to over come these problems. [12]

Q.3) What is Sales Promotion ? Explain in detail its need and importance. [12]

OR

Q.3) What is Public Relation ? State and explain various tools used
in Public Relations. [12]
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[3969]-131

F. Y. B. Com. Examination - 2011
TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]
(a) State important aim of Taxation in India.
(b) Give any two definitions of ‘Tax’.
(c) Define ‘The State’.

(d) What do you mean by ‘Codified Hindu Law’ and ‘Uncodified
Hindu law ?

(¢) To whom Hindu Law applies and to whom not ?
()  Define ‘Direct Tax’ and ‘Indirect Tax’.
(g) Define ‘Previous Year’ and ‘Assessment Year’.
Q.2) Answer in 50 words each : (Any Two) [08]

(a) State additional canons of taxation advocated by other experts
under Taxation Law.

(b) Explain advantages of Direct Taxes.

(c) Who constitutes Finance Commission ? State its formation,
powers, duties of chairman and members of the Commission.

(d)  Which are the sources of Hindu Law ? Explain in brief each
of them.
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Q.3) Answer in 150 words each : (Any Three) [15]

(a) State various characteristics of Taxation under Indian Tax Laws.
(b) Write down various advantages of ‘Indirect Taxes’.
(c)  Write short note on ‘Joint Family under Mitakshara School’ of
Hindu Law.
(d) What are the essential elements of Partnership ?
(e) For what purpose ‘Summons’ is issued ?
Q.4) Answer in 500 words : (Any One) [07]
(a) Explain various Taxes of State Government.
(b) Discuss ‘Salient Features of Mitakshara Coparcenary’ with

reference to Saction 6 and Saction 8 of Succession (Amendment)
Act, 2005.
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[3969]-132

F. Y. B. Com. Examination - 2011
COMPUTER APPLICATIONS
(Theory)
(Vocational Course-II)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) Figures to the right indicate full marks.
(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Write syntax and give example of the following functions :
(Any Five) [05]

(@ getch()
(b) scanf()
(c) putchar()
(d) stremp()
(e) clrscr()

(f)  log()
(9) atof()
Q.2) What will be the output of the following modules ? (Any Four) [08]
@ main()
{
int a = 700, b, c;
if (@ > = 500)
b = 200;
¢ = 100;
printf(“\n%d%d”, b, c);
¥
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(b) main()
{
char a[] = “COMPUTER”;
int j = 0;
while(a[j]! = “\0)
{
printf(“\n%c”, a[j]);

i+

b
(c) main()
{
inty = 2;
while(y == 1)
y=y-1
printf(“\n%d”, y);
¥
(d)  main()
{
int n[25], m;
n[0] = 300;
n[24] = 150;
m = n [24];
n[24] = n[Q];
n[0] = m;
printf“\n%d%d”, n[0], n[24]);
b
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(e) main()

{
int al[5] = {10, 20, 30, 40, 50}%;
int i;

for(i = 0; 1 < 5; i++)
printf(“%d”, a[i]);
by
(f  main()

{
it yr = 2010;
if(yr%2 == 0)
printf(“\nLeap Year”);
else
printf(“\nNot a Leap Year”);

by

Q.3) Write short notes : (Any Five) [15]

(@ Pointers

(b) Constants in C

(c) if....else statement

(d) Features of C

() Symbols of flowchart in C
()  Variables in C

(g) \Various Data Types in C

[3969]-132 3 P.T.O.



Q.4) Answer the following : (Any Three)

@)
(b)
(©)

(d)

©)

Write a C program to print reverse number.
Write a note on Structure used in C.

Write a C program to print whether the given number is even
or odd. Accept number through keyboard.

What do you mean by Array ? How many types of Arrays are
there ?

What is function declaration and function definition ?
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[3969]-133
F. Y. B.Com. Examination - 2011
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - 11
ADVERTISING
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Write short notes : (Any Two) [16]
(@ Types of Advertising Objectives
(b) Ethical Aspects in Advertising
(c) Limitations of Advertising

(d) Career Avenues in Marketing

Q.2) What do you mean by Advertising ? State advantages of it. [12]
OR
Q.2) Discuss different types of Advertising. [12]
Q.3) What is Advertising Budget ? State various factors affecting
Ad Budget. [12]
OR

Q.3) What do you mean by Advertising Copy ? State different components
of Ad Copy and essentials of good layout. [12]
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[3969]-134
F. Y. B. Com. Examination - 2011

TAX PROCEDURE AND PRACTICES
PAPER - II
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]
(1) Explain “‘Appropriate State’ under CST Act.
(2) What is meant by ‘Tax Free Goods’ ?

(3) In which Forms Application for Registration under M.VAT Act
and CST Act is to be made ?

(4) What is meant by ‘Business’ under M.VAT Act ?
(5) What is meant by ‘Crossing Customs Frontiers’ ?
(6) Who is called ‘Dealer’ under M.VAT Act ?

(7) What do you meant by ‘Document of Title’ ?
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Q.2) Answer in 50 words each : (Any Two) [08]
(1) Explain ‘Turnover of Sales’ under M.VAT Act, 2002.

(2) What are the ‘Turnover Limits’ under Section 3(4) of M.VAT
Act ?

(3) When a sale is said to be made out-side the state under CST
Act ?

(4) Enumerate advantages of ‘Registration” under CST Act.

Q.3) Answer in 150 words each : (Any Three) [15]

(1) Discuss Powers and Duties of Commissioner of Sales Tax
under M.VAT Act.

(2)  When Sales or Purchases are said to take place in the Course
of Inter-state Trade or Commerce ?

(3) What is “‘Return” ? Who and when is liable to File Returns under
M.VAT Act, 2002 ?

(4) Enumerate Sales not to be liable to Tax under M.VAT Act.
(5) Explain Constitutional Background of CST Act. What are the
objects ?
Q.4) Write long answer in 500 words : (Any One) [07]

(1) What is meant by ‘Goods of Special Importance’ ? Explain
importance of the term.

(2) What is meant by ‘Assessment’ ? Discuss different types of
Assessments under M.VAT Act.
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[3969]-135
F. Y. B. Com. Examination - 2011

FOUNDATION COURSE
(Restructuring)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What are the causes of Rapid Growth of Population in India ? Suggest
measures to control increasing population. [16]

Q.2) What is “‘Culture’ ? State and explain Characteristics of Indian

Culture. [16]

OR
Q.2) What is the importance of Agriculture in Indian Economy ? [16]
Q.3) (A) What are the Characteristics of Science ? [08]
(B) What are the causes of Sickness of Indian Industries ? [08]

OR

Q.3) (A) What is the importance of Religion in Indian Society ? [08]
(B) Write a note on Human Values. [08]

Q.4) Explain Concept of Liberty, Equality and Fraternity. [16]
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Q.5) Write notes on the following : (Any Two) [16]
(@) Problems of Schedule Caste and Schedule Tribe
(b) Concept of Government
(c) Rule of Law

(d) Importance of Yoga
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